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General Instructions :

(i) The question paper comprises of twe sections, A and B. You are fo
attempt both the sections.

(i) Al questions are compitlsory.

(iii} There is no overall choice. However. internal choice has been provided in
all the three questions of five marks category. Only one option in such
questions is to be attempied.
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A4.f questions of Section A and all questions of Section B are to he attempted
separately.

Questions number 1 to 6 in Section A and 17 to 19 in Section B are short
answer type questions. These questions carry one mark each.

vi}  Questions number 7 io 10 in Section A and 20 1o 24 in Section B are short
answer type questions and carry two marks each.

tvit) Questions number 11 to 14 in Section A and 25 and 26 in Section B are also
short answer type questions and carry three marks each.

(viii) Questions number 15 and 16 in Section A and question number 27 in Section
B are long answer type questions and carry five marks each.
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SECTION A
WET 31

Balance the following chemical equation :
PHNO,),(5) 2225 PbO(sy+NO, (8)+0; (8)
frafaftae v witeor i wgier w1 4 forfed -

PBNO,), (5) — ot PbO(s)+NO, (£)+0, (2)
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Fresh milk has a pH of 6. When it changes into curd (yogurt) will its pH vaius
increase or decrease 7 Why ?

A5 g9 1 pH HH 6 BT Tl 399 q6 1 9 W AR pH AW w41
M 7w ¢

Name a reducing agent that may be used to obtain manganese from manganesg

dioxide.

B ergeiiEarge @ i T @ & fa ot ues st @ am fafad

Why does a ray of light bend when it travels from one medium into another ?
TS TohTeT-foRAT ek TREETT ATeam | gEt qRERft ATean H WeRLad WEY 319 99
A AA S ?

Nraw the given diagram in your answer hook and complete itffor the path of ray of
light bevond the lens.
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Why does sky look Blue on a clear day ?
ueF o fod | evew Fen F R dar g 7
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A compound which is prepared from gypsum has the property of hardening when
mixed with a proper quantity of water. Identify the compound. Write the chemical

equation for its preparation. For what purpose is it used in hospitals ?

ueh Aiftren forrer Tt ey @ gian 2, 3fra g # 59 fiem @t ag @i it
g s 8| e A w3 awar g 7 gweh fmior Bt @ et e
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(a)  Whatis the colour of ferrous sulphate crystals ? How does this colour change

after heating ?
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(b}  Name the products formed on strongly heating ferrous sulphate crystals.
What type of chemical reaction occurs i this change ?

(F) T Tehe % Breal o 31 S BT § 7 uH o ) i1 ° B yER
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(@) WE TR F m«maﬁﬁanﬁaﬂﬁ%mﬁwm%mﬁvﬁmlw
uiEaT ° ore vam <t Afirisen Bt 3 7

What is the minimum number of rays required for locating the image formed by,a
concave mirror for an object. Draw aray diagram to show the formation of a irtual
image by a concave mirTor.

fortft eramer gdw g fore & gfafera a1 &1 s Faffa s & 0 <gas
Torat Terzom =ht STTeTareral Bt & 7 Wk a1aae edur g anrdi afafaes o s
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A piece of wire of resistance 20 £ is drawn outSo that (ts"length is increased to
twice its original length. Calculate the resistance of the wire in the new situation.

20 Q TRAMY % TH IR Wiva IEhEEEar o € 031 A5 ot § 39
AR F vy =1 nieer i

What is meant by ‘rusting’ ? With labelled diagrams describe an activity to find out

_the conditions under whichfiron(rusts.

ST AT ToRE e B 7 ATHifeRe TxiE] ohi TETIT © TR UL ST R oht i@
1 I TR o TR uek Brar-swerra s 30 iR

Give reasons for the following observations :
(a)  Theclement carbon forms a very large number of compounds.

(b) CAinhales of a gas burner have to be adjusted when the heated vessels get
blackened by the flame.

(e} " Use of synthetic detergents causes pollution of water.

fmfofaa ahemen & S FR IRy

(%) FET A T RNfTER B T s fF B

(@) € SaTen W @HI 991 F1c] F04 il T84 offf af 19 944 & arg f3gl |
ORI ST TSl & 7

() ETEING SIUHTSER & IUEN ¥ S 9givd & Sl 2

1.2



13.

14,

15.

31/11

What 1s finpermetropia 7 State the two causes of hypermetropia. With the help of
T3 Zizgrams. show o

11y :he eve-defect hypermetropia (i) correction of hypermetropia by using a lens
579372 G 1 BT @ ¢ E1H-giE 219 369 B % o v forfay | -t
N E'Sﬁ?e?\?[ :

(i) -3 2w ek AT (i) ©IE & T 3R - @ @ T

Two resistors, with resistances 5 Q and 10 £ respectively are to be connected to a
battery of emf 6 V so as to obtain :

(1) minitum current flowing (1) maximum current flowing

(a)  How will you connect the resistances in each case ?

(b}  Calcuiatc the strength of the total current in the circuit in the two cases.

s Q 3R 10 Q ulady & ) wfativen &l U% 6 V il & ¥ ¢
(1) =IFH 90 a4l (i) SERFaH €

ur A F e e s R

(F) vk = F fou sy it fhg g sidn 7

(@) T Tewenett °H gel Rl SR o uiene it |

(a)  Whichtwo criteria did Méndeleev.use to classify the elements in his periodic
lable ?
(b)  State Mendeleevisiperiodic law.
(c)  Why could ne fixed position be given to hydrogen in Mendeleev’s periodic
table ?
(d) How and why does the atomic size vary as you go :
(i) from left to right along a period ?
{iihdown a group ?
OR
(@), Why did Mendeleev have gaps in his periodic table ?
(b}  State any three limitations of Mendeleev’s classification.
(c)  How does electronic conftgurations of atoms change in a period with increase

in atomic number ?

(%) ASels (Aeefia) A areh 2rad wroh & weal & e & B o 2@
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(m)

(a)

(b)
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What is a magnetic field ? How can the direction of magnetic field lines at a
placed be determined ?
State the rule for the direction of the magnetic field produced around a current
carrying conductor, Draw a sketch of the pattern of field lines due to a current
flowing through a straight conductor.

OR
Whal is a solenoid? Draw asketch of the pattern of field lines of the maguetic
field through and around a current carrying solenoid.
Constder agircular loop of wire lying in the plane of the table. Let the current
pass through the'loop clockwise. Apply the right hand rule to find out the
direction ofithe magnetic field inside and outside the loop.

TrsehTy A1 o i B 7 foRe e o) graehve an yanat it i wn fufo
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AT S

17.  Whar are the two main components of our environment ? ]

AT TETA0 o Q1 G §EH H1 E 7

18.  VWhat will happen to a plant if its xylem is removed ? 1

gf2 fopelt uTeT o wEe 21 T3 Se @Y 91ey w1 @97 B 7

19.  Name two tissues that provide control and coordination in multicellular animals. 1

FEHIRERE Sal § a0 a9 §9-=d T4 A o1 @ FHidah! = A o)

20.  What are natural resources ? State two factors that work against an equitable

distribution of these resources. 2
WThicreh Tete fohee shed & 7 SIS o FHM THaTor o g o eidl arend o
ETGiie

21 What 1s water harvesting ? Mention any two water harvesting structures. 2

e TG 1B & 7 TRl 2 SieT Sevl AL 1 3gd hi |

22. What are ‘nastic” and ‘curvature’ movements 2:Give one example of each. 2
‘SIFEA AN T AT 0 B 1 AT TR T TH-Th IQE] ARIY |

23,  What is biogas ? Why is biogas considered an ideal fuel for domestic use ? 2

A3 e 7 BT & ? ST e 37 % forw v evest Sem wi A S R ?

24. (a)  Distinguish betweennenewable and non-renewable sources of energy.
(b)  Choosethe rencwable sources of energy from the following list

Coalybiogas,'sun, natural gas 2
(%) sl & FoERiE qe S RiE |l H§ T 3= fafau |
() Faefi & s & T HE A T

HrEaa, 39 79, g, T 9

25.  Bxplain analogous organs and homologous organs. Identify the analogous and
homologous organs amoengst the following : 3

Wings of an insect, wings of a bat, forelimbs of frog, forelimbs of a human.

31/111 7 [PT.O.
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(a)

(b)
()

(@)
(a)

(b)

(a)

(%)

(@)

Explain the terms ;

(1) implantation (i1) placenta

What is the average duration of human pregnancy 7
ffafad ual = vweE

(i) T (i) e

wrre gy = afom vl e et 2 7

Draw a diagram of human alimentary canal andlabel on it :
Oesophagus, Gallbladder, Liver and Pancreas.
Explain the statement, ‘Bile does not,contain any enzyme but it 1s
essential for digestion.’
DR
Draw a diagram of excretory system in human beings and label on it :

Aorta, vena cava, urinary bladder, urethra.

List two vital functions of the kidney.

o
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